The Battle of Bosworth
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The Battle of Bosworth took place on the 22nd August 1485. It was the decisive battle that  ended the wars of the roses. It was fought between the armies of house Lancaster, led by the rebel Henry Tudor and the House of York, led by the King, Richard III.
Q.1 Why was the battle of Bosworth important?
The Battle of Bosworth was important for two reasons…

Richard III had become and unpopular king, it was rumoured that he has killed his wife to marry his niece and he was suspected of murdering his two nephews in order to be the king. Henry Tudor was particularly annoyed with him because Richard years before had taken Henry’s land away from him and banished him (sent him away) from England and Henry had to go and live in France.
Q.2 Why did Henry Tudor want to fight King Richard III?
Henry Tudor wanted to fight Richard III because…
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Henry invaded England by first sailing from France to Wales. As he marched through Wales and gathered more men. Henry managed to gather a small army of 5000 men. Richard had the bigger army of 8000 men. The battle was fought near Market Bosworth. Although Richard had more men, he could not trust his nobles who had sworn to protect him. Lord Stanley was the most powerful noble who was on Richard’s side, but Stanley was also Henry Tudor’s stepfather. Lord Stanley was a treacherous (untrustworthy) man who had switched loyalties to house Lancaster and the house of York throughout the wars of the roses. Richard had kidnapped Lord Stanley’s son to make sure he stayed loyal, but instead, Lord Stanley still betrayed Richard by keeping his men out of the battle. He did this to wait to see who would win. 
Q.3 Who had a bigger army King Richard or Henry?
Q.4 Why could King Richard not rely on Lord Stanley?

King Richard could not rely on Lord Stanley for two reasons…

The battle was long and there was no clear winner. Henry Tudor decided to ride over and speak to Lord Stanley to try and convince him to join him to tip the odds in his favour. Seeing this Richard was infuriated, he charged over to try and kill Henry Tudor in single combat. Richard killed many knights who tried to protect Henry but he was over powered and pulled from his horse. Whilst on the floor he was killed by a dagger thrust into the back of head. .

Q.5 Why did Richard lose the battle?
King Richard lost the battle because…

Henry emerged from the Battle as the winner, and was crowned King Henry VII. Henry was also clever enough to marry Elizabeth of York, who was the niece of Richard III, and so unite the Houses of Lancaster and York. This meant that the house of York could not seek revenge. The victory of Henry Tudor started the Tudor dynasty (the Tudor kings and queens) lasting 118 years which saw many political and religious changes. 
Q.6 How did Henry Tudor’s victory over Richard change British history in an important way?
The victory change British history because…
